ot = Gis 0= 0ir o Multipliser desimaler med ti

StudentName: __ ExamDate: __ ExamScore: ____
6,537 x 100 = 5,207 x 10 =
5,424 x 10000 = 1,567 x 10 =
2,096 x 1000000 = 6, 897 x 100000 =
5, 694 x 100000 = 6,286 x 10 =
3,348 x 1000 = 4,386 x 100 =
6, 587 x 1000 = 4,636 x 1000 =
10, 315 x 1000000 = 6, 029 x 100000 =
2,209 x 100000 = 10, 113 x 100 =
4,026 x 100 = 10, 76 x 1000000 =
9,444 < 1000000 = 8,709 x 100000 =
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g = G 020 0o Multipliser desimaler med ti

StudentName: ExamDate: __ ExamScore: ____
6,537 x 100 = 653.7 5,207 x 10 = 52.07
5,424 x 10000 = 54240 1,567 x 10 = 15.67
2,096 x 1000000 = 2096000 6, 897 x 100000 = 689700
5,694 x 100000 = 569400 6,286 x 10 = 62.86
3,348 x 1000 = 3348 4,386 x 100 = 438.6
6, 587 x 1000 = 6587 4,636 x 1000 = 4636
10, 315 x 1000000 = 10315000 6, 029 x 100000 = 602900
2,209 x 100000 = 220900 10, 113 x 100 = 1011.3
4,026 x 100 = 402.6 10, 76 < 1000000 = 10760000
9,444 x 1000000 = 9444000 8,709 x 100000 = 870900
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